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5) 5 + 6 =  
 
6) 4 +  = 9 
 
7)   – 4 = 6 
 
8) 8 –  = 4 
 
9) 3 – 5 =  
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10) 6 +  = 4  
 
11) 5 –  = 8   
 
12)  + 6 = 2 
 
13) -3 + 6 =  
 
14) -8 – 3 =  
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15) Yesterday you borrowed $8 from 
your friend to buy a school t-shirt. 
Today you borrowed another $5 
from the same friend to buy lunch. 
What’s the situation now?  
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-8 + -5 = -13 

 

-8 – 5 = -13 

 

 8 + 5 = 13 
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16) -2 +  = 4 
 
 
17)  – 5 = -1 
 
 
18) -9 +  = -4 
 
 
19) -2 –  = -8 
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20) -5 +  = -8 
 
 
21) -3 –  = 2 
 
 
22) -8 –  = -2 
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23) -8 +  = 0 
 
 
24) -5 + -1 =  
 
 
25) -5 – -3 =  
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26) 6 – -2 =  
 
 6 – -2 =  
 
 6 – -2 =  
 
27) 6 + -3 =  
 
28) 3 +  = 0 
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29) There is a bird flying 20 feet above 
the surface of the water and a fish 
swimming 5 feet below the surface 
of the water. 

 
 
 
 

 

 
 
How many feet higher is the bird 
than the fish? 
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20 – -5 = 25 
 
 
20 + -5 = ___ 
 
 
20 + 5 = 25 
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30) -5 – -5 =  
 
31) -7 – -9 =  
 
32)  + -7 = -3 
 
33)  + -2 = -10  
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34) 3 –  = -6 
 
 
 

 3 –  = -6 
 
 
 

35) -2 – 7 =  
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36) -8 
 

For each pair of numbers circle the larger, write “=” if they are equal, or 
tell me if there is not enough information to tell which one is larger. 

37) 3   7 

38) -7   3 

39) -5  -6 

40) +20 20 

41) -0   0 

42) -9   0 
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43) - -4 -4 

44) - (-4) -4 

45) -5  -100 

46)   -  

 

47) 5 = -____
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Circle the larger, write “=” if they are equal, or tell me if 
there is not enough information to determine which is 
larger. 

48) x  x + x 

49) x  x + 1 

50) x + y x – y 

51) –x x 

52) 7  x 

53) x  -7 

 

54) If x < y, compare -x and -y 
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55) What does the absolute value of x 

mean?  

 
 

56)  

  

 


